Inspection Services Pte Ltd

Date

: 04 September 2019

To

: NTUC Income Insurance Co-operative Limited

73 Bras Basah Road #05-01 NTUC Trade Union House

Singapore 189556

Attn

: Ms Corinne Hoo

AJAX Inspection Services Pte Ltd

120 Lower Delta Road #08-08, Cendex Centre Singapore 169208 Tel: +65 6255 0808 Fax: +65 6849 9155

info@ajaxinspection.com

Invoice No - AV21032

Company Reg No -201318067R GST Reg No - 201318067R

TAX INVOICE

YOUR REF / CLAIM NUMBER

: MT/1043109-001 (Ro

OUR REF

AVS2019-18867/SA

TP VEHICLE NO

: FBN8491R

CLAIM TYPE

: PRE-REPAIR SURVEY

DATE OF SURVEY

: 07 May 2019

No.

Description

Amount (S\$)

1

Professional fee

100.00

Subtotal GST 7.00%

Total

100.00

7.00 107.00

Payment Terms: 30 days from date of invoice

Please remit by electronic transfer as follows:

Payee: AJAX Inspection Services Pte Ltd

United Overseas Bank Ltd Account No: 450-309-276-4

Email remittance advice to: accounts@ajaxadjusters.com





Inspection Services Pte Ltd

PRE-REPAIR SURVEY REPORT

NTUC Income Insurance Co-operative Ltd

73 Bras Basah Road #05-01 NTUC Trade Union House Singapore 189556

Attention: Ms Corinne Hoo

Assign Date:

06/05/2019

Survey Date:

07/05/2019

Adjustment Date:

03/09/2019

Accident Date: Place of Survey: 30/04/2019

TP Policy No:

NA

Our Ref:

AVS2019-18867/SA

Yong Seng Heng Motor Services 5 Soon Lee Street, #01-12 Pioneer Point

Your Ref:

MT/1043109-001

Singapore

627607

Claim Type: Claimant: Third Party Vroom Leasing

Description of Vehicle:

Veh. No:

FBN8491R

Make/Model:

Yamaha Nouvo Elegance

Colour: Engine Capacity:

Black

NA

Engine No:

G3A3E502521

133 сс

Chassis No: Reg. Date: MLESG242111502521

07/10/2011

Condition of Vehicle:

General:

Odometer:

Good

Modification:

No

Steering: Paint work: Affected

Handbrake: Tyre Make:

Front Tyre Size:

Rear Tyre Size:

Affected Dunlop

Duniop

80/90/16

80/90/16

Front Side: Rear Side:

Footbrake:

6mm

Affected

6mm

Description of Damage:

The vehicle sustained damage on the left and right portions.

The box comportment, footrest, footrest bracket, clutch lever, centre console, mudguard, fork assy and sport rim were among the items affected.

Remarks:

Our recommended amount for the cost of contract lumpsum repair is \$\$2,400.00 with approximately four (4) working days to complete. However, no finalisation was agreed with the repairer.

Adjuster:

Motor Appraiser

COMPLETED WE SED 2010

Date

Note: This report is confidential and solely for the use of the client. The survey was conducted on a "Without Prejudice" basis.

AJAX

Inspection Services Pte Ltd

Adjustr	ment of	Repair Cost for Vehicle:	FBN8491R	Our Ref: AVS2019-18867/SA		
No.	Qty	Description of Parts	Condition	Third Party Surveyor's Estimate S\$	Our Recommendation S\$	
ist Iter	ms					
1	1	Handle bar	Bent	96.00	96.00	
2	1 set	Handle bar grip	Damaged	30.00	30.00	
3	1	Lever LH	Bent	45.00	45.00	
4	1	Lever RH	Not necessary			
5	1	Handle bar front cover	Not necessary			
6	1	Handle bar rear cover	Damaged	86.00	86.00	
7	2	Mirror @ \$40.00	Damaged	80.00	80.00	
8	1	Visor	Not necessary		00.00	
9	1	Front cowling	Repair	122.00		
10	1	Front cowling emblem	Grazed	24.00	24.00	
11	1	Headlight assy	Not necessary	255.00	24.00	
12	1	Front fender complete	Grazed	112.00	112.00	
13	2	Frok assy @ \$360.00	Bent	720.00	720.00	
14	1	Fork under bracket	Bent	160.00	160.00	
15	1	Front wheel	Cut	345.00	345.00	
16	1	Front under cover	Cracked	72.00	72.00	
17	2	Front side cover @ \$118.00	Grazed	236.00	118.00	
18	2	Front side cover emblem @ \$18.00	Necessary	36.00	36.00	
19	2	Front signal light assy @ \$48.00	Cracked	48.00	24.00	
20	1	Inner shield	Damaged	108.00	108.00	
21	2	Footrest board @ \$78.00	Cut	156.00	156.00	
22	2	Foot mat @ \$42.00	Cut	84.00	42.00	
23	1	Body under cover	Damaged	74.00	74.00	
24	2	Rear cover @ \$116.00	Repair	116.00	74.00	
25	2	Rear signal light assy @ \$52.00	Not necessary	110.00	100	
26	1	Side stand	Not necessary	58.00		
27	2	Rear footrest @ \$35.00	Damaged	70.00	35.00	
28	2	Rear footrest bracket @ \$68.00	Cracked	136.00	68.00	
29	1	Kick starter	Bent	65.00	65.00	
30	1	Crankcase cover	Grazed	167.00	167.00	
31	1	Crankcase cover gasket	Necessary	12.00	12.00	
32	1	Rear fender	Repair	64.00		

Note: This report is confidential and solely for the use of the client. The survey was conducted on a "Without Prejudice" basis.

AJAX Inspection Services Pte Ltd



Adjustment of Repair Cost for Vehicle:		Repair Cost for Vehicle:	FBN8491R	Our Ref: AVS2019-18867/SA	
No.	Qty	Description of Parts	Condition	Third Party Surveyor's Estimate S\$	Our Recommendation S\$
33	1	Exhaust muffler complete	Not necessary	420.00	
34	1	Muffler protector	Not necessary	86.00	_
35	1	Muffler cap	Not necessary	32.00	-
			Sub Total:	4,115.00	2,675.00
			Discount (less 10%):	411.50	267.50
				3,703.50	2,407.50

1	1	Rear number plate	Re-use	15.00	-
2	1 set	Steering cone & bearing	Necessary	80.00	80.00
3	1	Rear top box	Grazed	280.00	200.00
4	1	Rear rack	Repair	120.00	
			Sub Total:	495.00	280.00
			Total Parts Price:	4,198.50	2,687.50

bou	r Cost			
1	Towing fee.		60.00	60.00
2	Check and rectify electrical wiring.		50.00	30.00
3	Workmanship to repair and renew damaged parts & areas.		350.00	240.00
		Sub Total:	460.00	330.00
		Grand Total:	4,658.50	3,017.50

Note: This report is confidential and solely for the use of the client. The survey was conducted on a "Without Prejudice" basis. **AJAX Inspection Services Pte Ltd**